
Multiply by Negative Powers of Ten (J)Find each product.
6.383 × 10⁻¹ = 0.26 × 10⁻¹ =
1.4 × 10⁻³ = 8.89 × 10⁻³ =
0.1 × 10⁻³ = 4.9 × 10⁻² =
0.35 × 10⁻³ = 0.98 × 10⁻¹ =
0.48 × 10⁻¹ = 3.2437 × 10⁻³ =
1.3 × 10⁻² = 7.2 × 10⁻¹ =
6.1 × 10⁻¹ = 3.287 × 10⁻³ =
3.354 × 10⁻¹ = 5.8 × 10⁻³ =
4.59 × 10⁻³ = 6.4 × 10⁻³ =
3.564 × 10⁻¹ = 0.79 × 10⁻¹ =
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Multiply by Negative Powers of Ten (J) AnswersFind each product.
6.383 × 10⁻¹ = 0.6383 0.26 × 10⁻¹ = 0.026
1.4 × 10⁻³ = 0.0014 8.89 × 10⁻³ = 0.00889
0.1 × 10⁻³ = 0.0001 4.9 × 10⁻² = 0.049
0.35 × 10⁻³ = 0.00035 0.98 × 10⁻¹ = 0.098
0.48 × 10⁻¹ = 0.048 3.2437 × 10⁻³ = 0.0032437
1.3 × 10⁻² = 0.013 7.2 × 10⁻¹ = 0.72
6.1 × 10⁻¹ = 0.61 3.287 × 10⁻³ = 0.003287
3.354 × 10⁻¹ = 0.3354 5.8 × 10⁻³ = 0.0058
4.59 × 10⁻³ = 0.00459 6.4 × 10⁻³ = 0.0064
3.564 × 10⁻¹ = 0.3564 0.79 × 10⁻¹ = 0.079
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